A AM 2007 A

Time : 3 Hours Marks : 160

Instruction :

L

Each question carries one mark.

8 (] of drdy Lok,

2. Choose correct answer to the following questions and darken, with HB pencil
corresponding digit 1, 2, 3 or 4 in the circle pertaining to the question number conc
the OMR Answer Sheet, separately supplied to you.

Bhd auyd (& L‘{)F&lé DOGH Brrddn Q0) E° @ &
S adyd OMR Jbrewd JEdns® DHZ Howododd D
HB 258 Sorre Sabds.
' BOTANY
1. Study the following lists :

List—1 List — 11
(A) Rendle
(B) Sawada
(C) Majumdar
(D) M.O.P. Iyengar

Plant environment
Taxon of Zygnematac
Fungal secretion

Plant classification

<ZER"

(A)
(B)
©)
(D)

1R




é AM 2007 A

The Scientist who through his extensive researches found that the regular recurrence of rust
disease every year on wheat plants in India is due to the pathogenic fungal inoculup arried
through wind currents from hills to plains.

(1) M.O.P. lyengar
(2) M.S. Swaminathan

(3) P.Maheswari

\91( K.C. Mehta

g5 s HOFEdeo orgor a0d0irs’t HB Hodd
WwEH o 3E ok Biben Fod [Foore wod
25% 8008 wod0)R%0 B H0gs A0S EWITY,

(1) M.O.P. so‘:’ugom5
(2) MS. i)vgam"r‘{:ﬁ

(3) P.%ir4g0

@ KC mbe

as

(1) Lateral roots

2) doryED 3¢
W~ wotn B¢
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4. Study the following statements : '

L Bulb of Allium cepa is a modified stem.

Il “Cloves” of Allium sativum are fleshy scale leaves.
IIl.  Corm of Colacasia is a modified root.

IV, Tendril in Vitis vinifera is a modified axillary bud.

Identify the correct pair :
land Il (2) HMandIV (3) IHandI (4) , land IV

(8o 'i:S'a_:éla:vgspgo:{:: weigoldo Jobod :

L sdubD b3 obdo, Sraroso B08d srodo.
I O TIDLH Dodd ‘E'SY 03D 59508 e
. S'ofolr Lodo, Srdroddo odd 3.
IV. 383 R3oe&” w0 84, raroddo Bosd AN &
DOGHD wED HYoSod.

W 1R ll  (2) NS0V (3)  I8e% il \%

5. Arrange the following plants in the ascofiding-order_based on the M leaflets in a
leaf :

L. Hardwickia
III.  Marselia

oBE)0d.
L &528a%
111, :ﬁ:néaé)ob

The correct sequghc

IV, L IL, I (4) ILIV, L1

Ruugl?’\ ork \/

3R
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Assertion (A) : The type of inflorescence in Sphaeranthus is cyathium.

Reason (R) : Incyathium type of inflorescence, the flowers are achlamy

The correct answer is

(1) (A)and (R) are true and (R) is the correct explanation of (A).

(2) (A)and (R) true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.
(A) is false but (R) is true.

938 TEgo (A) 1 DoXrBOdD 85 D) ergdo ;‘ogo‘o SN
=800 (R) : Hordohed S5 D) Z)a"g:ﬁoé" Daryen D8
DOODD waren

(1) (A) &0ok (R) HOOBID. (A) % (R) %8

@) (A) $0d6 50 (R) $OEHB s°¢b.
A (A) HOTHD 576> 579 (R) HOGRRB.

1
2
(3)

(2

3)

Bhoren Godro

wring Boobod® Jeg/ g oo Lok EHD Sookes® reuth FdY

Bdoren 60&3‘7\
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8. Waering isolated a dormancy inducing substance from the lcaves of a plant. From which
type of gynoecium does the fruit of that plant develop ?

(1)  Bicarpellary syncarpous gynoecium with inferior ovary

Bicarpellary syncarpous gynoecium with superior ovary
(3)  Tricarpellary syncarpous gynoecium with superior ovary
(4)  Monocarpellary gynoecium with half inferior ovary

' S00f 28 WE) Hero Wod WIBHL KON Sargedy Ay Qo
Do0 JBED woiE iy Dod D HE08 ?

(1) 83 Podef SoohE wodE Y M) woarfako.

2T Bg $oie Sook wodE i MmEs woariato.
() (B o Soaw wors'HY & vorrFao.
() OF Hos¥ woks D) ©g i) woardobo.

9.  Arrange the following plants in the descending order based on phe numer of their
mericarps :

L Ricinus

II.  Ocimum

L DRSN
I s

The correct sequen

628 HOGHS $6

| () IV.ILILI

. LILTV
IV,IIL L IT LIV, I, I
4
Rough Wﬁ- o
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10.  Which of the following pairs in angiosperms are diploid and triploid, respectively ?
\(A{ Secondary nucleus and endosperm

(2) Microspore mother cell and egg cell

(3) Polar nucleus and secondary nucleus

(4) Endosperm and antipodal cells
wbyd Da A o’ 308 BS* D wob Josren (B
!‘gééonﬂ’ Godron?
\LY( &Sgéoia So8&o, wo¥ddyEso

@) Hrgg De dd) §20, By Dez €m0

() &ybBoEso, agBab SoEEe
4 woéﬁw‘é‘béo, (BB e en

[ S
11.  Which one of the following statenieiits-is : e properties of DNA ?

(1) DNAis denatured when héated
(2) DNA shows high absorption‘pf U

/\

ough Work \/
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12. Assertion (A) : Ribosomes are considered as the most primitive ccll organclles.
Reason (R) : Ribosomes occur in all cukaryotic organisms.
The correct answer 1s
(1) (A)and (R) true and (R) is the correct explanation of (A).

\LZ)/ (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) (A) is false but (R) is true.
QP TEgo (A) 1 TEVDOH Soromrod® ol wift
=m0 R) @ BSIDen o) dz So(sE Fe
DO waraww
(1) (A) 00 (R) S0GHSD. (A) & (R) HOGH
2T (A) 005 (R) SOGHED. 520 (A) & (R) DOGHS Jbes 5o
() (A) DOGHHB 527 (R) HOGHB S,
4)  (A)J0SHIB s57¢h. 579 (R) R3]

13. The internal structure of a plant stem is observed/There is a discontinuous ring of angular
collenchyma below the epidermis. Type of ¥asc(lar bundles are of the same type as in the
stems of solanaceous plints. Sie\e tube elemgnts\ possess simple sieve plates. Identify the
plant.

(1) Helianthus ) (4) Hydrilla

u¥ 2w svod pBOB. wrirg SO (308D Sedod ro §Gsa

e 00 28 D fal : ZOse Howre Yo FoId e s"owe) &

950 Hoerod VO NG ¢ drostod® BB ol Poster aamyow. &

S hoobod.

() |orootoss @f oy (3) zow @) e
Rough|Work
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14. Arrange the following plants in ascending order based on the number of xylem strands

their roots :
L. Trapa II. Pisum

1Il. Castanea IV. Nicotiana

& (800 I od 8 IYS od od Yowro Jopg wprforr S1sy &S

wdobk.
L (e ) L 20
I s ok V. 8
The correct sequence is
20 DOGHD HEHE»o
() IIV,ILI ) MLIV,IL1 (3) IV,ILLI JIV, 1L I
15. Which one of the following is the coirec eriee-of tissues%p'csc% in dicot stem during

secondary growth ?

(58 He) 00, BySokH Hep oo, PSS, Bodb

4] |Bg8a% duyeo, BowW, PS°aS, (FPDE Hep oo

8R




16. The source of intoxicating beverage called ‘Saky’ is

(1) Sorghum vulgare (2) Arachis hypogea
Oryza sativa (4) Mangifera indica

‘& 0 boded wdardobo 3 wod S8 ?
(1) oS é§5 2) oo T
W aBe S8 (4) HroADoe 30d

17.  Study the following lists :

List—1I List —I1
(A) Laxative 1 Neem
(B) Anticorrosion II.  Groundnut
(C) Lubricants II. Cotton
(D) Nitro cellulose IV. Mango
V. Rice

(808 e DErod ©Egohno Bovod\;
erdar — 1 _

(A) J8°BSs0 L

(B) ogrd& AT°ES0

(C) Bodden

(D) .3_@3‘ ?\3@5“}

The correct matchns :
28 JOGHd F'BoD).
(A) (B) (©)

()| I A%
v v it I
@y |V v Ilo I
4 |1 I v v
%
ough Work
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18. Which one of the following families shows both freedom and fusion in four successi
whorls of the flower from exterior in different members ?
(1) Malvaceae (2) Solanaceae (3) Asteraceae
Hipnod’ DD wod Fred wV(STDE Soafrod’ o S
wdoanEonr Dbk DoakhForr EOROHOT énoe B ?
(1) Er8gd 2) o (3) ©Pd

19. The parthenospores of Rhizopus are
(1) Uninucleate  (2) Binucleate (3)

tinucleate
BETERS" WV R B Deren

(1) 2% 3So@% oo (2)
(3) (B So8% oo W s

20. Assertion (A) : Both apospory angd apoga
Reason (R) : They are eviderf by

The correct answer is

(1) (A)and (R) are true and (R) is the o éxplanation of (A).

(2), (A)and (R) are true but (R) is not the cCt explanation of (A).
(A) is true but (R) isfalse.

(4) (A)is false but (R) i

Q38 F7Ego (A)

sdmo (R

o e3aTeen
(A) 005 (R) BOGDID. (A) & (R) DOGHD dddea.

(A) 200Xw (R) b@;}. 5°9 (A) % (R) H0GHS AdSea s°&.
(A) SOGHHO 520 (R) HOGHHO 5.

5°Q (R) D0GHRB.

10R
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21.  Study the following and identify two characters found in both Cycas and Pteris.

L. Formation of motile male gametes.

II.  Formation of haploid endosperm.
[II. Formation of sporophyte directly from gametophyte without gametic union.

IV. Formation of archegonia in female gametophyte.

The correct pair is
\,H'r [and IV

(2) TandIII

(3) HandIV |

() MandIV

& (808 vFmrod vggohdo B, PS3
HBood.

o8 Sodh oo

L S i Dares D8ye

I Q¥ 28¥ @0&)615‘3650 Dtﬁac‘bb
®

. Hodrd Here Eoopb-E He28m 0d I ?océf)_ascﬂo D&Qtﬁodb.

IV. &9 dodird ey

(2) 0ok I

3) /rl S80IV

@ ook IV A
Rough Work k4
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22.  Study the following lists :

List—1 List —1I1
(A) Epulopiscium fishelsoni I.  Vector
(B) Bacillus thuringiensis 1. Acanthurus
(C) Treponema pallidum III. Bacitracin
(D)  Agrobacterium tumefaciens IV. Bioinsecticide
V. Syphilis

(800 wrderoid wdgohdo Daod :
e — 1

(A) BHS DD HRSTD

(B) @rduR HoSoBHAYD

©) BV FO8S

(D) o(f'er 5000 LygHRONS)

The correct match is
28 :(38@_)26 SaH

(A)

o
() I
| v

4)| IV I \Q 1l

Roug? ork
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23.  Which of the following arc correct to describe viruses ?
L Simple and unicellular organisms.
II.  Contain DNA or RNA and enclosed by protein coat.
IIl.  Possess own metabolic systems and respond to stimuli.

IV. Maintain genetic continuity and undergo mutations.

The correct combination 1s
(1) TandlII

\(é‘)/ Il and IV
(3) MandIN
(4) land 1l

(808 T7IS° JBSe HYHL HOGHD O 2

L 0¥ DEsn ey dhe

28 H0G% Hetdos
(1) 1ddo Il
1 11 &00% IV
)/ [l 00k 111

@) |%0a% Q
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24. Study the following lists :

List—1I List - IT
(A) Sphacelotheca I.  Three celled conidia
(B) Colletotrichum Il.  Zoospores
(C) Pyricularia Il. Falcate conidia
(D) Olpidium IV. Suspensor

V. Columella
8o (300 erderod vPigobivo Faod :
as -1

(A) ?o;)‘z‘oé"és‘ L ok Serod 500 Soen

(B) SO5B9ED
(C) poXgBo0%*

14R
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25. Identify the diseases that are caused by the organisms of the same subdivision of Eumycoia.
I Citrus canker
II.  Redrot of Sugarcane
III.  Grain smut of Sorghum

IV. Black neck of Rice

The correct pair is

(1) landIV
(2) landIll
(3) HandIl

AT Mand IV

o‘.ﬁr@?@é‘ 28 &b P mRs Bodg

—

&S s*o8b
DHH Y& &g\) aen

< EF

2)
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26. Study the following lists :

List — 1 List - 1I
(A) Ephemeral I Nerium
(B) Mucilage II.  Ziziphus
(C) Multiple epidermis  1Il.  Calotropis
(D) Spine _ IV. Tribulus
V: Aloe

(8od arDerods vdgobbo Fohod :

=D -1 AL |
(A) ®oys"d8 g . QocHs
(B) 208 éwgo L. 2255
(C) 2ot ardrgBdo M. $S°1&rdS
(D) Zod¥o T v

The correct match is

20 JOGHS AB0Y).
(A) (B)

(1) II

(2)

@ TV

27.  Seeds possess spongy ari

(1) A Eichhornia (2) Potamogeton
( Sagittaria W Nymphaea
9 S0 Ha: & @%Qé@hzﬁa
0s°0)oke (2) DoIr2irs

W dopote

16 R
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28. What type of plant is formed when colchicine is used in the process of development o

Raphanobrassica ?
(1) Triploid (2) Haploid
(3) Autotetraploid AT Allotetraploid
E3Srbs 0PH) TFD BENS' YOS edTrNoDSHY®, & §89
Dd;)éaésoﬁ?
(1) (So%b 28%o (2) =¥ 23%0
@ @
(3) ¥gavo HENBLo g8 SéyBEo
. Z ;

29. Study the following lists :
List -1 List —II
(A) Synthetic seeds £ Anther culture
(B) Gene cloning II.  Interspecific hybridization
(C) Haploid plants III.  Polymerase chain reaction
(D) Transgenic plants IV. Recombinant DNA technolo

V. Som
(B0d zrDerol vgalbido Savod
adae -1
(A) DoFad dren L
(B) aidug §Dof
(C) % 288 Bk : ATE\DS BoYrES
(D) ekogd0%0S 2 X B3e0D398 DNA Bsmyod

The correct match
DOSHD £°BoY

(A) (B) ©
\,(4'( I I
) il % m
3) I mo 1l
@) % v I

ugh ’Wor/

@ -




A AM 200

30. Assertion (A) : K'ion accumulation found in Nitella depends on its respiratory activity
Reason (R) : Absorption of all jons in plants completely depends
metabolic energy.

The correct answer is
() (A) and (R) are true and (R) is the correct explanation of (A).
(2) . (A)and (R) are true but (R) is not the correct explanation of 14
(A) is true but (R) is false.
(4) (A)is false but (R) is true.
D338 TEg0 (A) POV WwHoS® =07 K
RodPp uerddd ¢otnod

S0 R) : wHos® =00 v I S/ To), 8 EHBor3g

DOGHD 22aren

(1) (A)£B0% (R) H0GED. (A)
@) (A)©00% (R) 56559, s°dYA
G (A) 506, 59 (R) HOGHH
@) (A)BOGHEB, 57 51 (R) 90

31. When pea sceds and whea
the wheat. The reason

W @80 ddb wog Dod Sorgre o8 JEnD

@] |Fgi% Aoeed® §8 B grond S8 Hm Godod.

(3] |woves ddoreo Eagesin whE ErRgon ok,

4 5 ow Eofbures S50 drEidgon odd.
ugh\N rk

18R
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32. Which one of the following denotes the water potentiul of the mesophyll ¢
condition ?
Equal to the value of osmotic potential
(2)  Equal to the value of pressure potential
(3)  Greater than the value of its osmotic potential
(4) Equal to zero

| in wilted

8§08 &IS° SBOS ) Jlerods Lo D F5m BODHA HaM
& & U P
W (S5D5Se 180 Denid Hhrdorr Gotwod.
(2) DS %50 Dend BErdom Gotod.

3) (SaDSSe0 %é&o §R‘r‘l Jﬁ:&o"am G otnod.
(@) D& Shredo. //\\

33.  Identify the correct combinations of the following : \—/
Substrate Enzyme Prod
I Phosphoenol pyruvate  PEP — Carhoxylase i

II.  Malate ; C, acid
[I. RuBP KAngs C/ acid
IV.  Pyruvate C; acid

The correct combination is

(1) MlandIV @2) landIl N Kand Im A7 Tand IV

& (800 &S SOgH

[EoXrmrdsw & N5y
I Qa‘:af;)aav C, edudm
I 88 C, uwudn
LI, RuBP C; wxpsw
V. 263& C; wdn

28 HEES Hedod)
(1) | M2V (2) 1@.(“[ (3) Bl  \#f 1H0a% IV

Rough Wor|

19R
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In which one of the following reactions, oxidative decarboxylation does not ocgar?

(1) Malic acid —» Pyruvic acid

(2) Pyruvic acid — Acetyl COA
Glyceral dehyde 3 — phosphate — 1. 3 — bisphosphoglyceric acid

(4) - ketoglutaric acid — Succinyl CO A

& (308 @ I ahd $gS* 8 ¥ Asoo)8yBAS 281 ?
(1) %08 esyo - WS B0
2) PEIE wpo wJBSCO A

& noogis 3- iy 1,3 - D50 eio
4) a-88%e& 05 wino H8)0S COA '

as;

From among the following, identify the substrate required fowﬁdaﬁm reaction

that occurs in the process of glycolysis,

(1 3- phosphoglyceric acid
(3) Fructose - 6— Phosphate
Bob SIS, AT (B8’ =08 V6 En BEgh eI B Sorged)
HooBod. ' : i, ; L :

36.

Which one of the fo w\m/ nzymes h
(1) RNA Polymerase
Amino acyl synthetas

role in protein synthesis ?
Restriction endonuclease
(4) Peptidyl transferase

&)5@5)&6‘ patal @"fg{g ‘:503:&396‘ SR ?

RNA -85 2 BES o8 tmgadhe
DT WS DoSHE @) 2RBS (&S0

20R
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37.  Assertion (A) : Decapitation of shoot tip in plants inhibits the growth of thejlateral buds.

Reason (R) : Accumulation of auxins in lateral buds causes inhibition o
The correct answer is

(1) (A) and (R) are true and (R) is the correct explanation of (A).
(2)  (A)and (R) are true but (R) is not the correct explanation of (A).
(3) _ (A)is true but (R) is false.
(A) is false but (R) is true,
Q28 Ego (A) W 0&° sroar e FONY ¢ FVsg
belsiats) Diﬁadﬁae‘i}o&
s 8mo R) : &y SEsrost Q8@ w8S

&S0 bdgc‘.&)é)o&

éﬁnﬁsa‘: ESTAEAV)

(3)  (A) JBEHRS sw‘() (R) :\JBEB)ES& 5%,

VAT (A) 5048 52 5+9 (R) @ch

38.  Assertion (A) : Ethylene stimulates
healing.
Reason (R) Ethylcne causes ‘“triple
The correct answer is
(1) _ Both (A) and (R) are true and (R) is thé\corfegtexplanation of (A).
Both (A) and (R) are true but (R) is not the o

o MBOS (BTDoD, © mabo

* 5)8" A WIS S-S0,

() £3Ba (R) Godke 5OTSY/5°D (A) & (R) 9086 560 e,
(3) /th) $0GE%8 53 (R) $0EY s°ch>
@) | ) %0aHa s sv@ HOGB.

Rough Wor
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39. Identify the characters of gynoecium found in members of Asteraceae, Fabage
and Solanaceae, respectively.

I Tricarpellary syncarpous, ovary superior and trilocular
II.  Bicarpellary syncarpous, ovary superior and usually bilocular
Ill. Bicarpellary syncarpous, ovary inferior and unilocular
IV. Monocarpellary, ovary half-inferior and unilocular

ae, Liliaceae

(BhrddonT hEodod.
L (8Pods DoonEo, woarioho &ggo, (B8
II. &5.;)065%4 boowEo, womFodHo &agso o BROSONED
L Bgdode HoosnEo, V) wowrFo%o, ¥4l
IV. Qd¥SFafvdo, » ©g V%) woariado, DEDON

The correct sequence is
28 HOSHH DED (Edo

(1) ek HL:EV LILIV, IO

40. Two plants ‘A’ and ‘B’ belonging to so ¢ observed. In plant ‘A’, the number of
locules in the ovary of a ﬂower is half of that ofits carpel number. In plant ‘B’, the number .
of loculcs in the ovary o swer is double the number of carpels. Identify the plants ‘A’

m, Pentunia

VoIVE BodD 2
dodwro Dowgd

HAOS'Y voaFavos god Dero Jowg POSFO Sowgd TYod Gotwod.
B0k B @& o DD (¥ 20&° H00d0d.
svg)g§50, &&aoe 2) ™, bmyg.ﬁob
)| deedake, Jerdd (4) BE20ys™S, I Gokrae
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ZOOLOGY

41. Mammals evolved from therapsid reptiles in Triassic period. The type of
reptiles is

(1) Anapsid skull
(2) Parapsid skull
Y Symiepisid deull

(4) Diapsid skull

(©afrRE aoifos® Bordys BBOyPe Sod LSk 5D
o) '
@

() X256 HE
(2) 2oyE HB
s_(}( JDNEGE Y

@) BotriyE Ho W

42.  Each male genital opening of pheretima h SM € openings of
(1) 2 duets

3 ducts

(3) 5 ducts

(4) 4 ducts

208ErS® (98 HAW
(1) Bodk o0¥en
(2{ & o DEen
G P 0L
(4) ey arPEen

Wfor’k

Y@ A3 BERLED o De K)c:ps

23R



43, Match the following :

(a)
(b)
(c)
()
(e)

(8od 03D e2adHdodw ¢

(a)
(b)
()

Set -1
Inguinal canal
Rete testis
Leydig cells
Prepuce

Corpora cavernosa

e -1
arogm Hg
08 BYD
OGH Eeren

A AM )

=

Set—I1

Net work of semeniferous tubules

24R
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39. Identify the characters of gynoecium found in members of Asteraceae, Fabage
and Solanaceae, respectively.

I Tricarpellary syncarpous, ovary superior and trilocular
II.  Bicarpellary syncarpous, ovary superior and usually bilocular
Ill. Bicarpellary syncarpous, ovary inferior and unilocular
IV. Monocarpellary, ovary half-inferior and unilocular

ae, Liliaceae
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IV. Qd¥SFafvdo, » ©g V%) woariado, DEDON

The correct sequence is
28 HOSHH DED (Edo

(1) ek HL:EV LILIV, IO

40. Two plants ‘A’ and ‘B’ belonging to so ¢ observed. In plant ‘A’, the number of
locules in the ovary of a ﬂower is half of that ofits carpel number. In plant ‘B’, the number .
of loculcs in the ovary o swer is double the number of carpels. Identify the plants ‘A’

m, Pentunia

VoIVE BodD 2
dodwro Dowgd

HAOS'Y voaFavos god Dero Jowg POSFO Sowgd TYod Gotwod.
B0k B @& o DD (¥ 20&° H00d0d.
svg)g§50, &&aoe 2) ™, bmyg.ﬁob
)| deedake, Jerdd (4) BE20ys™S, I Gokrae
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ZOOLOGY

41. Mammals evolved from therapsid reptiles in Triassic period. The type of
reptiles is

(1) Anapsid skull
(2) Parapsid skull
Y Symiepisid deull

(4) Diapsid skull

(©afrRE aoifos® Bordys BBOyPe Sod LSk 5D
o) '
@

() X256 HE
(2) 2oyE HB
s_(}( JDNEGE Y

@) BotriyE Ho W

42.  Each male genital opening of pheretima h SM € openings of
(1) 2 duets

3 ducts

(3) 5 ducts

(4) 4 ducts

208ErS® (98 HAW
(1) Bodk o0¥en
(2{ & o DEen
G P 0L
(4) ey arPEen

Wfor’k

Y@ A3 BERLED o De K)c:ps

23R



43, Match the following :

(a)
(b)
(c)
()
(e)

(8od 03D e2adHdodw ¢

(a)
(b)
()

Set -1
Inguinal canal
Rete testis
Leydig cells
Prepuce

Corpora cavernosa

e -1
arogm Hg
08 BYD
OGH Eeren

A AM )

=

Set—I1

Net work of semeniferous tubules
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44.

A\

Identify the correct set from the following ;

(i)  The application of Mathematics to Biology is Biometry.

(if)  The study of Genetics that deals with the systematic treatment of geneticdisdrde

Euphenics. '

(ili) The branch of Biochemistry concerned with the study of tra

energy by living cells of organisms is Biotechnology.

(iv) The study deals with the application of stati
analysis of biological data is Bioinformatics.

The correct set is
\m/ (i) and (ii) ; (2) (i) and (iii
(3) (i) and (iii) (i) and (iv)

AM 200

fon and use of

. methods for computatipn and

2) (i) 0o (iii)
@) (i) D0t (iv)
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45. Match the following :

Set-1 Set-11

(a) Petromyzon 1.  Planula larva
(b) Holothuria 2.  Axolot larva
(c) Ambystoma 3, Auricularia larva
(d) Polychaeta 4. Ammocoetes larva
(e) Cnidaria 5. Trochophore
(BoB A zd Do

o -1 Dae
(a) PEDerS L révger Gosiw

(b)) FESEroarr
©) QoY%
(d) >O8&e
(e) dvode

The correct setAs

DOGHD =S
() a—4,b-2,0N3,d
) a-2,b-4,c-2,d
a—4,b-3,c—-2,d-5,e—-1

) 3—1,b-—3,(‘.@*5.€—4

—

Ro gM
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159. One gas bleaches the colour of flowers by reduction and another gas by oxidation. The gases
respectively are

W~ 80, and Cl, (2) COandCl,
(3) NH;and SO, " (4 H,SandBr,
DI Botd 28 o Fovsdno argor, DB ara « o 0zd0
Dodoth. © oraluRyen DERIM
W~ S0, wBo% Cl, 2) CO HBakyCl
(3) NH, ©0a¥ SO, ) H,S Br,

g

160. Except B and A/, all other III group elements exhibit +m state. This i

because

(1) they are ‘P’ block elements
(2) their first ionization energy is le

(3) they have low melting point
\,Iﬂ’/ due to inert pair effect

S (e Broste +1 e8)E8m 28I

226 2200 (e,

e

Rough Wark
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46. A transverse section of Pheretima taken through the 10t segment is observed in microscope)
Whijch of the following structures can be observed in the section ? '

@)
3)
(4)

DOSET 10 D Poddo oo wHE'E 8 BoawE drd
& S)m&wo:&: Haodos én‘.’na ?
O dgriaitn, B8 SEwdo, a8 Sveed,

o))

(3)
“

Stomach, Dorsal blood vessel, Ventral blood vessel, Supra-oesopha
Anterior loops, Ring vessels and Micronephridia.
Stomach, Dorsal blood vessel, Ventral blood vessel, Lateral hearts, Ring vissels aw
Pharyngeal nephridia. :
Intestine, Dorsal blood vessel, Ventral blood vessel, Suppa
Septal nephridia.
Stomach, Dorsal blood vessel, Sub neural blood vessel and

wood arFen, Kmég E’ogs‘&m.
ég%a‘bo, égé BE>Fo, &dd §Eardo, &
:{:anzrm.
205, DR ¥ o, G688 SEFo, wgrgo(s SErFo /a
2griabo, DG S§xro, w&fFd EFoe; AL

47,

(2) R Fodd) vy

BT | n b oDy wbE 5omg Siagen 5050\ EO&HO w08 Yo(Edomron.

() |ERd ey 0gs dogg wingHen GEN0HSS g0 Soerdo Sod erab
FHowrow. :
Rough Wark
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Which of the following animals is not only a living fossil but also considered as connecting,

48.
link ?
(1)  Sphenodon (2) Limulus ' a/\ Neopilina (4) Lawmer
(808 DE)H) oS B HED BeradwnS M8 JogridE) edsrar 8o
(1) HFesS () OingeS o darpse N o8
49. Identify the correct sequence of classification of the following : N
L Eutheria II. Mammalia
1II.  Leporidae IV. Lagom
V.  Oryctolagus
(B0B HHESeS® DOGDD HEDEHrA) thYoBod
. ofrddod L %
. s2%d IV, erffardy
V. ebfenS
The correct sequence is
20&E° HOGHHG.
(1) I-V-oslaV-ll SVl V
(3) Ilalﬁwﬂm ) Vo lll— 10—V
N\
50. During the devel h OFMcrumcrcs develop into
(1) Mesode Endoderm
(3) Ectoderm All the three germinal layers
driy ©wDH)E DOHLS g Dzod™D Propoarw & BD Sgerd)
oS BoJrow.
)| g g \92{ wod Jeso
3)| wrdrg g0 L4 e (@EE RTod)
Rough Work
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In man four phenotypes of blood groups are due to the presence of antigen ‘A’ and antigen
‘B’ on the RBC. The chromosome that has the gene to control these antigens j

(1)  X-chromosome (2) 21* chromosome
B 9" chromosome (4) 7" chromosome

2P S EESere ¢H0S00P HOT ‘A’ DB B’ (HBaHen % 3
SXwarofren $o ¢5)%g drarod HBoUHWEY. G (Hiedsron GO/ 2o
L% (8%,

(1) X- 3% @ 258

(})/%Lé“a:@ﬁ‘fm @) 7% 8 ;’.m/\
. N\

52.

Which of the following possesses a hard cxoskeletonWium cagbopate ?
(1) Physalia (2) Aurelia \}3’)/ Corallium Halistemma

s*Qo¥o s* 8 IEE Dﬁaé:ﬁ K8 e R-dhozdo o S

(1) 0% (2) wbdoke Wm"\s}ma @) rodum

53.

In Rabbit foliate papillae are \/

(1) situated on the margin of tongue
(2)  situated on the uppeps
(3) situated at the bagt
\(?"(‘ situated at the 41de hasc ofthe tongue

Lodens® PO

(1) mrens wodhed™

(2) srwd addswos® Howr
(3) /Prens dorodos® Hodraw,

Wi arens Sz io &90@“ Doerow,

—

ough W urw
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54. Perjplaneta americana has thermoreceptor sensillae on

7 15,20 and 3™ segments of tarsus of legs.
(2) 3 4 and 5™ segments of tarsus of legs.
(3) Pedicel of antenna.
(4) 15" segment of anal cerci
ORI wDOSTES® &Y (s DT e

s*% 8D GIng) .58, Todh DOk L pode Dodrow,

2) s°¢ &EYR g e, renid W 28 POBE O HO
(3) Hydyorre DAVS NS Hodrow.
4) rof aarormre 15 5 podsod Hodrow.

. . I =
Intron transcripts in heterogenous nuclear RNA ( and\exon transcripts
are joined together under the direction of protein ¢

(1) Polysomes (2)

\93( Spliceosomes (4) Endopeptidases
s e 8o Bo|dE RNA (hn RNA) &°0 mo(@rsS 090
D050 errren Sodirds ¢
(1) SRS

& pparSe

Ln
Lhn

An imaginary g
opposite end

\(Z{ Bodh @0@536‘3 838
9 e orgor I (Patreiod ol B dovo.
) | 2rgssns @e.sa;@m 2.8 2 $6506%) whabare sOE.

ork
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57.  The nasal chamber of rabbit has three thin twisted bony plates called conchae. They are lined

by
(1)  striated cuboidal epithelium (2) simple cuboidal epithelium
(3)  simple squamous epithelium #~ simple ciliated columnar cpithelium

Loden o850 85¢8° Ko Zod, durdd @ dosod Sy, Doyworr O /80
DOWOB. &R wHBoD VNG,

() 308 oarsel aHEs (2) DEE rseE GHEY
() B8 dopo adse VAT 555 Goar o8 A8 ad

58.  Efferent salivary ducts in Periplaneta open into
(1) Stomach (2) Base of]p

\‘(3‘)" Base of Hypopharynx

(@)) ég‘%o&uﬁm
\(3)/ o5 werdo
and a white feathered cock, blue

59.  When a cross is conducted between black feathere h
feathered fowls are formed. When these \fo allowed for interbreeding, in F,
generation, there are 20 blue fowls. What would be the number of black and white fowls 2

(1) Black 20, white 10 (2)  Black 20, white 20
\ﬁ'f Black 10, white 14

Dy Sife Dbe
IO O Soi

§J,

(1) dendy 20, Bewd 10
Vil D 10, 3w 10 ) e 10, Bewd) 20

Rough WTrk
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60.

A ' AM 200
Match the following :

Set—1 Set — 11
(a) Astrocytes Resting macrophases
(b) Microglia Precursors of Myelin sheath
(c) Oligodendrocytes Set—up currents in cerebrospinal fluid
(d) Dependymal cells Protects neurons of brain from toxins

il

(80D &R wEHTLE :
erdae -1

(a) esig“j::iéf e

() E Nt

() wdFBoE RS

(d) BoddS Seren

The correc;_ match is

DooHD e

(1) a-2, b-3, c-4, d—1
@) a-3, b-2, c-4, d-1

i el =

61.

(4)
&oBens® n¥gEs oD 3 PSNE & D> 2260 DYoo,
(1) : 3 b S&d, ©oerd $Rd, DI an?gjg

(4) S50 B8 $Ed, Fedd E8 S, KoeyHald S, ©02°8 S, DR ((R9E
Stodoen. @ '

ork
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